

つぎの 計算を しましょう。

$$(1) \quad \underline{4\text{m}}60\text{cm} - \underline{2\text{m}} = 2\text{m}60\text{cm}$$

$$(2) \quad \underline{8\text{m}}50\text{cm} - \underline{4\text{m}} = 4\text{m}50\text{cm}$$

$$(3) \quad 9\text{m}\underline{70\text{cm}} - \underline{30\text{cm}} = 9\text{m}40\text{cm}$$

$$(4) \quad \underline{9\text{m}}\underline{80\text{cm}} - \underline{2\text{m}}\underline{15\text{cm}} = 7\text{m}65\text{cm}$$

$$(5) \quad \underline{11\text{m}}\underline{50\text{cm}} - \underline{7\text{m}}\underline{50\text{cm}} = 4\text{m}$$

$$(6) \quad \underline{15\text{m}}\underline{50\text{cm}} - \underline{8\text{m}}\underline{80\text{cm}} = 6\text{m}70\text{cm}$$

		m	cm
	1	5	50
-		8	80
		6	70

